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Correct: 1 Wrong: 0

Assertion (A) : Species is the lowest taxonomic category in the hierarchical arrangement
and shows distimguishing characters from one species from other closely
related species based on several phenotypic characters. However. as we
go higher from species to kingdom the number of common characters
goes on decreasing.

Reason (R) : Allplants come under the highest category called kingdom. plantae, which
has two major classes dicotyledonae and monocotyledonae.
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Which of the following 1s true?
& (808 TS I DBEgSn?
Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A) BBodn (R)Bodss Séghn Hoboin (A)S (R) 58608 Jd5de

(A) 1s true. but (R) 1s false
o % (A) z:':efé;‘m, 5x (R) E-E’ée‘s’ga'x::.

(A) and (R) are false

. (A)Hoasn (R) esdgh

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
. (A) Sobasw (R)Bodor Sdgdn. 570 (A) § (R) 98GE08 D5 578k

Question Number : 2 Question Id : 492863642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Study the following lists

ListI ListII
(a) Prions (1) Saprophytic and parasific organisms
(b) Viroids (11) Lacks the protein coat, and RNA is of low molecular
weight
(c) Phycobiont (111) Infectious agents which possess only proteins but
nof nucleic acids
(d) Mycoplasmas (1v) The algal component in a symbiontic association
(v) Orgamsms that completelv lack a cell wall and are
pleomorphic
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The correct answer is
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Question Number : 3 Question Id : 492863643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following lists :
ListI ListII
(a) C.G K. Ramanujam (1)  de Historia plantarum
(b) Sutton and Boven (11) palynology
(c) Theophrastus (ii1) sexual system of classification
(d) Carolus Von Linnaeus (rv) sexual reproduction in plants

(v) chromosome theory of mheritance

fod T wdodsSol

erfier | o 1l
(a) ».=23. oo (1) & Foosr Fobis o
(b) LS Hobodn wSo (11) Horiidew TYHo
(€) BRFFHD (i) Bons 3086 Bg3%
(d) 855 =5 OAOHS (iv) S8 0s* Bon¥ HHgsB

(V) eddedtsd” Fardran R;G‘L;uéu

The correct answer 1s
N0 eLo0N WL

Options :

(a (b () (@
L= (1) (11) (1) (v)
(@ @M () (@
2 (1) (v (1) (v



(a) (b () (d

(1)  (v) (@) (@)
(@ (b (© (@@

Lo ) (1) (i)

Question Number : 4 Question Id : 492863644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Statement (S) :  All bryophytes are homosporous
Reason (R) : In bryophytes. gametophytic and sporophytic bodies are conspicuously
different and the life cycle 1s called haplo-diplontic,

Ao (S): PRrplw o) Sdobgdadinae
s8mo (R): & Pl HodBrd Ded Sobasn DEDRE BTte ©RoyLom Sgargdo
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Which of the following 1s true?
& 180h TIS' B dSBgH0n?

Options :
Both (S) and (R) are true and (R) 1s the correct explanation of (S)

¢ (S)Dobckn (R)Bodsr S&zSw Sobosn (5)§ (R) 20g308 A58

Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
[S} $00ads (R)Todr Bdgie. 570 (S) 8 (R) S0&Eod 28 st

(S) 15 true. but (R) 1s false

. (S) &g, 570 (R) eddgdw

(S) 1s false. but (R) is true
o (S) eddghn, 50 (R) ddghan

Question Number : 5 Question Id : 492863645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Study the following lists :
ListI

(a) Fucoxanthin

(b) Chlorophyll D

(c) Ginkgo

(d) Amphibians

ol T8 adiddbod
erfo |

(a) T FTosS

(b) S@&6s0 D

(€) Ao

(d) egososoren

The correct answer 1s

ol PoN 2are

Options :
fa) (M (o)
Cw (i) (@) (i)
fa) (b ()
L w (V) (i) W)
fa) (M (o)
- (1) (v) (i)
fa) @ (o)
Lo (V) () (V)

(d)

(d)
(1)
(d)
(v)

(d)
(i)

(1)

(11)
(111)
(1v)

(V)

(1)

(11)
(111)
(1v)

(V)

ListII
Liverworts
Strobili
Rhodophyceae
Phaeophyceae
Living fossil



Question Number : 6 Question Id : 492863646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Study the following lists :

(a)

(b)
(c)
(d)

Bod s

(a)
(b)
(c)
(d)

List1
Rluzome

Corm
Stolon
Cladophyil

The correct answer 1s

=0 2onn LaEw

Options :

(@ @® (o
Lx (W (1) (v

(@ b (o

o= (1) () (v)

(@ (b (o)
¢ (v V) (1)

(1)

(11)
(111)
(iv)
)

(d)
(1)
(d)
(1v)
(d)
(111)

ListII
A slender lateral branch and arises from the base of main
axis

Stem 1s modified into a needle like structure
Branches of limited growth that perform photosynthesis
Colocasia

Curcuma longa
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Question Number : 7 Question Id : 492863647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Indicate the statement which 1s not correct?

& (5ol TS IS .:-..:'3'3 TLPE & wrdodod.

Options :
1 =

Stem tuber of potato. rhizome of Zinziber and corm of Colgcasia help in perennation
to tide over unfavourable conditions for growth.

QROMFEnoNe” thodsroldo, weod® §hn) Moy Fosald” Sore Basre

J}{}?&: Bos” &GS‘ﬂun Jos whdas é’ﬁi’&gﬁé‘@

e

Roots of Taeniophyilum and Avicennia called pnenmatophores. help to get oxygen
for respiration

GIFrpwo 0o @dodalr ST Fridrore edal 3G THHEhs’ &
Fodiras RTFohSaETow

b

3 ®
The haustorial roots of Siriga and Cusecuta help to obtain water and minerals from
the host plant

=

n.?u.uf‘& a0bodn 8y crod’ L*‘-"S'ﬁ Bk o 353 BSETaL S00d 0BG Jbodw elmred
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£
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4 ®

Rhizobium inhabit the root system to fix almospheric nitrogen by forming nodules,
nodular roots in Pisum. Cajanus. Cassia. eic

20, F2rd0, Foalr Indeih T 3 SgIYS” BERoho sardo AN ER
2 3k AHED TeStwod’ o SFaday Fuosid

Question Number : 8 Question Id : 492863648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0



Study the following lists :

ListI ListII
(a) Spadix (1) Acacia
(b) Valvate (1) Tridax
(¢) Cassia (111) Calotrepis
(d) Schizocarpic (1v) Colocasia

(v) Zygomorphic

fob 8D 28Sst0d

erder 1 arde 11
(@) a8 (i) edvaor
(b) Eadaiodo (11) @‘m@
(c) Bdabr (iil) SoErdS
(d) Sa="s78y§ (Iv) &edoals

(V) &E5 Fodododo

The correct answer 1s
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Options :
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Question Number : 9 Question Id : 492863649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single

Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

In plants growing under environmental stress condition, seeds germinate while they are on

the mother plant. An example for such a condition 1s :

Options :

Wolfia

&y ou
1 & @

Brown alga

® ﬁ*f;io;’x:u Ef}ﬂu

1

Rhizephora

3 v SETT

Eucalvptus
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Question Number : 10 Question Id : 492863650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0

Assertion (A) : Herkogamy 1s common i Danra plants.

Reason (R):  In Herkogamy. anther and stigma are placed at different positions so that
the pollen cannot come into contact with the stigma of the same flower.

JHdo (A): T8RN delror 08 08" FE o

258 (R): O AST Do ey, Serifo DI PIod” Jodlo Jol Jn&

SRR oo DS

Which of the following 1s true?

& Bob TAS" A8 BegSn?

Options :



Both (A) and (R) are true and (R) 1s the correct explanation of (A)
L (A) o800 (R)Bodor Sdgidan 080w (A)8 (R) H6508 H58e0

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
g (A) 500w (R)Bodor dégdw, 570 (A)§ (R) 260508 Jdm 5°eh

(A) 1s true. but (R) 1s false
B (A) B&gd00, 57 (R) &g

14

(A)1s false. but (R) 1s true
” (A) wd8gdw, 5790 (R) &g

Question Number : 11 Question Id : 492863651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Assertion (A) : Polyembryony 1s observed in plants like Mango.
Reason (R) : Nucellar cells develop into the embryos.

29

IFy80 (A): S=é ﬁaaéﬁué'ﬁ ohoddas: Nadoods

ande (R): zomod:Sozre Sy Do oam :’JE}Q Bodod o

Which of the following is true?
& Bod TAS' A8 DeégS0?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
& (A) So8cdn (R)Bodsr weta’gém 0803w (A)S (R) SlsTeRbly JH8e

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
. (A) 358080 (R)Taddsr oL, 570 (A)§ (R) 0GR IS0 T

_ro

(A) 1s true. but (R) 1s false
(A) 2o, 573 (R) edepin

3w



(A) 1s false. but (R) 1s true

4 &

(A) eddgdn, a0 (R) Jegdoo

Question Number : 12 Question Id : 492863652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Match the following lists :

(a)

(b)

(c)

(d)

\Sod

(a)

List1

The mesocarp and endocarp are fused to form
pulp and the seeds are hard

Stamens are united into one bunch

The main axis continues fo grow and flowers are
arranged laterally 1n acropetal succession on the
branch of peduncle

Stamens are united into two bundles
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(b) Sdorer Socingd QEJoazon bd&d&sa‘m
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(d) Bdoren Sociodd Tod Yomrem JGydeown

The correct answer 1s

L o my y sl
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Options :

(1)
(i)

(111)

(iv)
(V)

(i1)
(ii1)

(1v)
(V)

ListIT
Pistmn

Asparagiis

Crotalaria

Tobacco
Capsicum
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Question Number : 13 Question Id : 492863653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct :

1 Wrong: 0

Smilax possesses the following characters.

Six tepals and six stamens in two whorls, odd tepal of outer whorl 1s anferior in position
and odd tepal of mner whorl 1s posterior in position. Valvate aestivation.

Pentacarpellary. ovary inferior. pentalocular with few ovules. stigma bifid and simple.
Fruit is usually capsule. endospermous seed
Flower is solitary. bisexual.

Peeh) & fol vEren SO Dok
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The correct answer 1s
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Question Number : 14 Question Id : 492863654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

H,0, 1s converted to water and oxvgen by an enzvme which is present in the cellular
organelle.

H,0,&80 o $5o8050 esdedm H0388 o JoBD o SegotioS Jolwoh.
2 Tl B e

Options :
Glyoxysome

T8
R

F

Peroxysome
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[+%)

Lysosome

Question Number : 15 Question Id : 492863655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Identify the aminoacids containing hydroxy group m their structure
1) Cysteine

i1) Threonine

i) Tyrosine

v) Glutamic acid

EES) (D O oS sdrw Jommod” Jod' biodkok
D [15) . -

w.
e

i) D89

i

i) §BPS

Iv) #réans esdoo

The correct answer is

i 7= -\.""’ P e
N0 80000 22780
Options :
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Question Number : 16 Question Id : 492863656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A) :

Reason (R) :

JgsEs (A):

=00 (R):

Meitosis increases the genetic variability in the population of organisms
from one generation to the next and such variations are important for the
process of evolution

Errors in DNA replication is the main cause of such a genetic variability
during Meiosis

Which of the following is true?
& 1Bod TSt A6 0SLH07

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
. (A) S06cdxn (R)Bods weta’géo.; S8asw (A8 (R) elsfeR bl 582

Both (A) and (R) are true. but (R) is not the correct explanation of (A)

o B

(A) So8cin (R)Todsr D8gdw, 570 (A) § (R) 50508 580 52k

(A) 1s true. but (R) is false

i

» (A) B&gdo, 570 (R) edggdin

(A) 1s false. but (R) 1s ttue

w

(A'j wdidw, 0 (R) d&gdn

Question Number : 17 Question Id : 492863657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the followimg

$ob TEQ 2dLIdodk

(a)

(b)

(d)

The correct answer 1s
a8 50 =ond a2z

Options :

@ ® (o)
Lx ) (1) (i)

@ @ (o)

s () (1) (n)

(d)
(1v)

(d)
(1v)

Sclereid

QPBGe0

Tracheid

Téotso

Fibre

Vessel

Foardo

Colenchyma
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Question Number : 18 Question Id : 492863658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Arrange the following from perifery to the centre of the stem 1 dicotyledonous plants
1)  Pericycle
i1) Endodermis
i11) Protoxylem
W) Metaxylem
v)  Phloem

Options :
L% 1LV.iv.if.ii

% 1. 1L V. IV, 111

3

 ILLV.IV.II

Li]

% 11, 111. V. 1V, 1

o

Question Number : 19 Question Id : 492863659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Roots of the following hydrophytes are fixed to substratum. but their long petiolated leaves
keep them floating on water surface

1)  Salvinia

1) Fictoria regia

1) Umicularia

v) Nyvmphaea

drderdl oD Hod I IS Joeren $ON 8 GibEvo BOHB Higren
Ho 8 I e & Bod T7ES' D2

1) &Toosr

i) o5ocsr Sacir

1) osoEisegBsode

V) &obhodss

The correct combination is
A8 s Do¥aoD
Options :

g 11 & 11

[

w 11 &1

L

e &IV

i

Question Number : 20 Question Id : 492863660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The amount of CO, and H, O absorbed to produce 180 g of glucose are

180 ridwe ir8'E &8s, Faoddods CO, Sbcin H,0
Options :
193 and 264 grams respectively

w193 Sobain 264 mdwee SR



108 and 264 grams respectively

108 So8odw 264 |rdoen SE38m

1
b

264 and 108 grams respectively

o 264 508030 108 |prdoowo SHEET

2 and 264 grams respectively

e

o w 162 3000w 264 manes SR

Question Number : 21 Question Id : 492863661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following requires energy?

5

.

S B8 4§ wSdbo

f

&0 o ﬁ"*n'; )

Options :
Passive transport

oy & o Wt e
;J[:;.J‘}O..G‘ Uodiedr

Active transport

D|\§ci> darer

4

Facilitated diffusion

Oy sy gl

5 % woFSE 00

Diffusion

g S -‘,"_
® edod UED

Question Number : 22 Question Id : 492863662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0



Match the following :

List-I
(a) Manganese
(b) Magnesmun
(c) Zinc
(d) Nickel

Bob TEY BSSES

erdlar-1

(@) SooraR

(b) Sohyadsoo
(c) #oF
(d) <3S

The corTect answer 1s

w0 ZoNn 2aTtE0

Options :
(@ (b
s (i) (V)
(@) (b
(@) (b
L. ) @)
(@) (b

Lo (i) (D)

(c)
(11)

(c)
(V)

(c)
(v)

(c)

o

(d)
(1)

(d)
(iii)
(d)
(1v)

(d)
(iv)

(1)
(1)
(i11)
(1v)
(v)

(1)
(1)
(11i)
(1v)
(V)

List-IT

It activates carboxylases

Splits water to liberate oxygen

Involved in the synthesis of DNA and RNA
Activator for urease enzyme

Helps in stabilizing the protein structure

erda-11

son§iBEod &Bud

Q8 IT[ES 200 wfjzod Ade Tokbod
DNA. RNA Sozdees” e S0l

CS0bGE JoBdnd ¢dadiy

@ET oErSE pEeRs St ohigh&os



Question Number : 23 Question Id : 492863663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Identify the following enzymes to which classes they belong to :

Argininosuccinase

f

[ Arginosuccinic acid > Arginine + Fumaricacid

. Glutamic acid + NH; +ATP

Glutamine Synthetase s Glutamiine 4+ ADP+ Pi

" - . a1 1 o o O = & r =
& 1508 JoBTinowo J EONasS JobaIT Molodod
- i:"'"';-n-’_._ 5 =
ST oSS
B ol oy

I =8I38)08 esdo

IL  #Aotrdof essoo +NHy+ATP

RS DosBS ,
- , Hér S +ADP+ Pi

The correct classes respectively are
SO8 dnde SEE

Options :
Oxidoreductase and ligase

g

~
‘;J'.'

1 = a3 i

Lyase and ligase

. o OEE H0ckn SHE

Lyase and transferase

E .. - -
L x ©ORE SO (LrFFoE

Hydrolase and ligase

. TESE Sobcke TAE
4 Pat.

Question Number : 24 Question Id : 492863664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Find out the location of the following molecules i different components of chloroplast
List-1
NADP reductase

(a)
(b)

(c)

(d)

Protons produced by

splitting of water

F, component of the ATPase

F, component of the ATPase

(1)
(11)

(111)

(iv)

List-1I
Embeded in the membrane of Thylakoid
Lumen of the Thylakoids

Outer surface of the Thylakoid
membrane

Stroma side of the membrane

F0E0me wdvbsud’ & §ol vy PdIvod Miodod

(a)
(b)
(c)
(d)

erd)ar-1

NADP 6536

I8 o TgT @80 a&§
ATPGHE G, Fyeisogotsdo
ATPGE Gwf), Fiesdiobio

The correct answer 18

ol 20w 2370

Options :

1 9

P
®

4 B

(a)
(1v)

(a)
(11)
(a)
(1v)

(a)
(1)

(b)
(1)

(b)
(1v)

(c)

(c)
(1)

(c)

(111)

(c)
(i1)

(d)
(1i1)
(d)
(1v)
(d)
(11)

(d)

(111)

(1)
(11)
(1i1)

(1v)

do-II

BOTONG PIS" BlOSE
Fosond HNFdod
Fousand I &albdeod”

e58F HLOE BY @) IS

Question Number : 25 Question Id : 492863665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In photorespiration RuB1sCo binds with O, to form
1)  Phosphoglycerate

11) Phosphoglycolate

1i1) Glyceraldehyde - 3- Phosphate

iv) Phosphoenol pyruvate

1) FINATTE
i) Heogrs - 3-F 8

) ﬁ“’ﬁ*;lﬂéua“ﬁ REFIE

The comrect combination 1s:
A8 TTS JE20D
Options :

v i&ii

i & i
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. # m & iv
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B i&l.V

P
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In Glycolysis. the sequence of reactions occur m the following order

T5PoRRS” 20R Sdge Edoo

S

Options :

BPGA —» 3-PGA - 2-PGA '—-5 PGAL - PEP — Pymvate
| BPGA —» 3-PGA'—» 2-PGA '—» PGAL > PEP — 2638



1

3-PGA — 2-PGA — BPGA PGAL — PEP — Pymwvate
3-PGA s 2-PGA' s BPGA  PGAL 5 PEP 5 2&38

2-PGA — 5-PGA — PGAL
2-PGA —» 3-PGA —» PGAL

!

BPGA — PEP — Pymuvate
BPGA —» PEP —» 2p&38

l

PGAL —- BPGA —» 3-PGA — 2-PGA —- PEP — Pymvate
» PGAL —» BPGA — 3-PGA 2-PGA —» PEP 5 2&38

l
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Glycerol. the breakdown product of fat enters the respiratory pathway after being
converted to

e Ao Dol .‘Dd&éf‘ﬂ ﬁaﬁ&.‘fyﬁéj& Fdifodn Srgos QTS0 Bhsood

=T = i
oo § a0
o Al N &)

Options :
Acetvl - CoA
_ aebs -CoA
1., e

Glyceraldehyde - 3 - Phosphate

DoQE -3 -G

=0
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o ©

Pyruvic acid

265 w0
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i

PEP
x PEP

e
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Assertion (A) : Measurement and comparison of the total plant growth per unit time 1s
not absolute growth rate.

Reason (R) : The growth of given system per unit time as percentage of initial size 1s
called the relative growth rate

S@’jé.ﬁm (A): T8 & of Pdresood” 3ugo wdMdos Souofodd Fudes,
FOEw Jord bl e 57
sdeoo (R): 28 5pIRET w8 Rireseed” wiihde Ficd J0IraFTOT) Fof

mSmde solrd

Which of the following is true?
& (Bod TAST B DEgH0?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A) 50800 (R) Bodor LDdgB0 603w (A)§ (R) 585808 D58

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
, (A)S00a5n (R)Bodsr $8g35w, 50 (A) § (R) 98¢ 938 57k

(A)1s true, but (R) 1s false
o (A) Sdgdon, 570 (R) ed8gda

(A) 1s false. but (R) is frue

, () eddgin, £2 (R) w85
4,

Question Number : 29 Question Id : 492863669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1 List-10
(a) Spirtllum (1) comma shaped
(b) Vibrio (11) helical
(c) Pleomorphic (111) spherical
(d) Cocci (iv) elongated rods

(v) keep onchanging their shape

Bob T8 28585

e -1 >he -11
(a) b (1) 585 as=8o
(b) @& (1) 0oOF s o
(€) wfe&rdss (1) Fes=do
(d) &3 (1v) FHYSy Somren

(V) w580 Sedyfobor Hod

The correct answer 1s
wh Lo 2ot
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s () (@ (v (n)
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(@ o (© @
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Arrange the following steps in the order of their occurance in the Iytic cyele of a phage.
1)  Maturation phase
11) Penetration phase
i) Attachment
v) Release phase
v)  Biosvnthesis

The correct sequence 18
A6 HOTH HEBBBH00
Options :
L w L LIV. V.1l

% LILIV.V.1

1

o 1L 1 11 V.1V

L

4 il i v.L.iv
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The characteristic features of a plant with =Tt are

1)  Itis a heterozygote resulted from a dihybrid cross

ii) Itrepresents genotype

iii) The hybrids contain alleles which express contrasting traits
tv) The two alleles are derived from the same parent

20 TtEOAS Toog o B858 wiores

i) Bdoss Joss’ JOE Jhd cwilzo

i) 26 ady &drd) Bundod

1) Boslmrod’ P Sumdfones 98 vimrodk BuodHob

V) Bod chudiomes o8 ad%d Sod ISdaraw

The correct combination 1s
A5 HOGHE ¥R
Options :

s i & i

» L& 1

[

2 # & 1v

4 & ]J_'l&i"ii'
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In the dihvbrid cross. the phenotypes are: round. vellow : wrinkled. yellow ; round. green
and wrinkled. green seeds. What is the probability of wrinkled yellow seeds in the above
cross?

Eg0088 Doglud” Gyfgdrdren oo, SR Snddes, S0 oo, sBdd) Sobain

Swdde 58 wdd) Vgoron. 8 BOY Jo8lnod” dnddes, SRy Goib o
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What 1s the corresponding sequence of mRNA when a polynucleotide template DNA strand
15s3'-TAC GGT AAG CGG ATC-5"?

DNA F0 088086 ardpuos'd ghrswrdo 3'-TAC GGT AAG CGG ATC-5
oSy BB JSowoddod MRNA |§5=drdo 986?

Options :

| @ J'-AUG CCA UUC GCC UAG-3'

3'-AUG CCA UUE GCC UAG-5'

5-UAC GGU AAG CGG AUC-3'

o B

« 3'-UAC GGU AAG CGG AUC-5'
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Which of the following codes for methionine and also acts as an initiator codon?

—
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The Lac operon contains three structural genes *=°. *y’ and ‘@’

The structural genes code for

1)  The °z" gene codes for beta - galactosidase enzyme.
i) ‘a’ gene does not code for transacetylase enzyme.
1) The *y’* gene codes for enzyme permease.

iv) v gene does not code for the enzyme permease.
v)  ‘a’ gene codes a transacetylase enzyme,

8 DTS 3 Ao a8 2dogHBE 7. ) Hoboho “a’ sgYanew. &

[ &
Doddo I8
1) 27 2dgd B-mrofLdd JoBa0s Josde
=] [ -
i) ‘@’ adgd W elBOE JoBIo So8do 5750
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The cormrect combination 1s
B HOGHE YD)

Options :
| & ILIV.V
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Single stranded strings of nucleotides that extend from the end of a fragment of double-
stranded DNA are called

Bodo FSo DNA podore D880 Sod FAAcHnds JEXFTS' &b SebdrBiod
Dot Ed?
Options :

Palindromic sequences

FOOFTLE SEBES0

Staggered cuts

M E TR
@:HH \;:]CSI:U'

Cloning sites

gNofl BaTen

T
u

Cohesive ends
4 Domoze Boew
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Assertion (A) : In gel electrophoresis. DNA molecules can be separated by forcing them
to move towards the anode under an electric field through a matrix.

Reason(R) : Thisis because DNA fragments are positively charged.

I s (A): O PFEodS" DNA w2 ddd 8o S0l 658 wolSodom

S o
Sh IPH IreE o endod.

I

52820 (R): 28 DNA podaren §a éﬂsu SGodito Jos.

Which of the following 1s true?
& B0l TS I HIgHn?

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
; (A) So8cin (R)Todor S8gbn b (A)8 (R) $6G@0E 268

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
P> (A) 508030 (R)Bods wﬂ’ga’m s (A)8 (R) Eiag_iaeﬁ Da8ea 570

(A) 1s true. but (R) is false
(A) 3855, 52 (R) obdgsm

(A) 1s false. but (R) 1s true
g (A) sddgin, 50 (R) &S0
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In addition to the production of high yielding and disease resistant variefies. genetic
modification has:

i)  helped to reduce post harvest losses

11) decreased the nutritional value of food

1) reduced reliance on chemical pesticides

) decreased the efficiency of mineral usage by plants

v)  produced crops that are resilient to environmental stresses

2doghtddTror JES dSPgDNEE Tgh ITEE ol &EBTFNLTNTE & §od
TES* BAS & &y80?
1) Hobf's dongs SFo SHdeos

1) @58 FiE Jeode ok

1) J&rcird LdT¥ze T8%o éﬁgcﬁ&ﬁi&

V) g o ple vl Jdio FPs drbdese

V) Sed0m 28485 SRS Info w888

The correct combination is
QB OGS ¥
Options :

L % (1). (11). (111) & (1v)

o (). (i), (iv) & (v)

[

g (1), (V) & (v)

A

o (D). (i) & (v)

i
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With advancements in genetics. molecular biology and tissue culture the plant breeders are
trying to incorporate the attributes into crop plants.

Indicate the correct attributes from the following.

1)  increased tolerance to environmental stresses

11) resistance to edaphic factors

11) resistance to pathogens

iv) increased tolerance to insect pests

a:&:g-a'“;o weEdTy, oo SJdow PEHES JF DuddEden Job Ingod DD
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The bactermam that 1s commonly found in the anaerobic sludge during sewage treatment 15
called

T BT 64 8] a’:@rj‘ Trodndard ol S :a*’guaﬁ"’ SO orT ;@)uﬁ e..“-gﬂofp;i}a
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Methanobacterinm

&Sz 8N
1. & =



Staphvlococcus
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Identify the levels and hierarchy from the following in the classification of animal Kingdom.

a) Family

b) Class

c) Phylum

d) Order

¢) Genus

f)  Species

208 SEESS’ HBod TUS” DG LoSS O SHVESTI) MHBoLBHN

o o
a) SodsoomBSwn

b) Degrddw

¢) B85

d) @ESdw

e) |Herd
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Which of the following method does not represent the in-situ conservation of biodiversity

Bod TES’ A8 SFaTS Dol J0nohHodSs s
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Options :
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Match the following

List-1 List-1I
(a) Chordata (1) Acoelomate
(b) Nematoda (11) Schizocoelomate
(c) Mollusca (111) Enterocoelomate
(d) Platyhelminthes (1v) Pseudo coelomate

Eod T8 28HSTed

e -1 e - 11
@) sher (i) $65%58 Sirssn
(b) &S (i) 28 F0Y LTr8sw
(c) Jsear), (1i1) esoE ¥08 LT85
(d) FET o6 (iv) ogrg 68 LS5
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Match the following
List-1
(a) Kidney shaped nucleus

(b) Large spherical nucleus
(c) Bilobed nucleus
(d) Multilobed nucleus

E0b T wEIETb
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(a) Sormgohod essmEd

b) BEm Hoos® Hogorr

(C) To wodfer 50K

(d) 2855 wodlor 8OAS

The correct answer 1s
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Lymphocyte

eder - 11
2[R S)

SrITRE)
Srged)
8§ HO§en
Doty



Question Number : 45 Question Id : 492863685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Trilobite larva is present in the development of

o0 4‘2}9};}

Options :

BOBE Hoddhn wihhohd
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Statement (S) :

Reason (R) :

Sgmg (S):

5o (R):

Symmetry of an organism 1s determined based on the symmetry of the
early developmental stages and not that of the adults,

Bilaterally symmetrical animals are more efficient in seeking food, locating
mates and avoiding predators.

Geard) s 2oder eSd SHFPISS”, JofNEIN THEYSE0S
285 2Jo Hod O oRERseS" J8S JBglodom wolion

Which of the following is true?
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Options :
Both (S) and (R) are true and (R) 1s the correct explanation of (S)

(S) So8cin (R)Bodr S&ghn Sobodw (S) 8 (R) 880308 25

1 .

Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
I (S) Sobobo (R)Bodr Sdgiss. 50 (S)§ (R) 20508 &8s s

[+2

(S) 1s true. but (R) 1s false

% (8) S&gbn, 573 (R) edsgidn

]

(S) 1s false. but (R) 1s true
e (S) ed&ghn, 570 (R) d8gh0
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Which one the following characteristic features of Frog is sumilar to Tiger

& (80b vimrod’ J £y wfedn DO GE), vEplnd FO clvods
Options :
Cutaneous and bucco-pharyngeal respiration

S8)os Hoboho edg-de THOED
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Three-chambered heart
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Dicondylic skull

gsroaos e

Poikilothermic animals
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Correct: 1 Wrong: 0

‘Stemum’ also known as “breast bone” first appeared in which of the following animals
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Options :
Pisces

% DO

Amphibians
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Reptiles
, & SOSyen

Birds
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Which of the following has ATP-ase activity in flagella

& |fod aind 8S* E3gidns' ATP-abE el BOASE
Options :

Tubulin

Kinetosome

IS FS

!L'I
B



Actin

‘r‘fgh
/|
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Choose the correct statements with reference to flagella

a) Do not unite to form ciii

b)  Foundall over the body

¢)  Perform undular movements
d) Perform pendular movements

Options :

L # a&d

Ja&c

h

-~z D&C

4. 8 c&d
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)

Match the following
List-1

(a) Nocturanal periodicity

(b) Extra intestinal migration

(¢c) Schuffner’s dofs

(d) Tetra nucleate cyst

Bob T8 2didtbed

(a) 75 wHddo
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(d) SdiyoEss 5%

The correct answer 1s
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(i1i)
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V)

List-1I

Entamoeba histolytica
Plasmodium vivax
Wuchereria bancrofti
Ascaris lumbricoides
Taenia solium
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Match the following

List-1 List-1I
(a) Ectoparasite (1) Ascaris
(b) Hyperparasite (11) Entamocba
(¢) Coelozoic parasite (1) Leshimania
(d) Histozoic parasite (iv) Nosema

(v) Head lice

Bobh T8 280dPN0k
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Match the following

List-1 List-1I
(a) Morphine (1) Atropa belladonna
(b) Hallucinogenic (11) Erythroxylum
(c) Cannabinoids (111) Papaver somniferum
(d) Cocaine (rv) Cannabis sativa

Bo& T8 2EBX0T0d

ias -1 e - 11
(a) Hoed\e (1) eE's Bod's
(b) SIS (1) 2B Bwo
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The correct answer 1s
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(a) (b) (c) (d)
Lo V) () () @3)
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The following schematic diagram represents the labium in the mouth parts of cockroach.
Identify A.B.Cand D

& (508 JLdo FTHoE I8 grrefy Tods odidod Srdodid, & SLdodR

A B. CH8cis Dol Mubotdw

Options :

A-Submentum. B-Glossa, C-Labial palp. D-Palpiger
ADSooEiad, B-:"‘__'z_*_"c'ﬁrf C-a958 K}‘:JD_I‘H}U Ko, D-ﬁ‘-‘@gaﬂuﬁ

A-Labrum. B-Palpiger. C-Glossa. D-Labial palp
A-&%U . B-ﬁ*—@gzﬁ-ﬁ'. C-:‘i:‘f':‘-‘ D-e23y ET:.DUf;us‘iu

A-Palpiger. B-Glossa. C-Mentun. D-Labial palp

A-rdyad. B-Tar, (Shobsen. D-sdd &yonoiio

L

A-Mentum. B-Palpiger. C-Glossa. D-Labial palp

(7]

& A-Soban. B-ordya b, C-Tar. D-edd Qyooiio

Question Number : 55 Question Id : 492863695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0



Identify the sequence of circulation of blood in Periplaneta americana
a) Headsinus

b) Heart

¢)  Penvisceral haemocoel and stermal haesmocoel

d)  Pericardial haemocoel

¢) Aorta
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d ySoirsdm SGEin

e)  BoSSE50d
Options :
# C2b—od—oe—a

s b—se—sd—c—a
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in d2e3boadoe

Question Number : 56 Question Id : 492863696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0



Statement (S) : The corpora adiposa cells perform ‘storage excretion’ i Periplaneta
americana

Reason (R):  The fat body contains urate cells which absorb and store wric acid and it 1s
the major excretory organ

Tgps (S): DOFIL @05 T S s &T QR0 Eomen Jor ISYS
SgeTm oW,

sdmo (R): 50 Do choth cirdd Serenod ©d clrt§ el Fhoade =6
QendBdon Sobon JBYSS” Sy wEohidom el

Which of the following 1s true?
& Bob TS 26 S8gB0?

Options :
Both (S) and (R) are true and (R) is the correct explanation of (S)

i (S) So8aiw (R)Bodr 28g50 Ho8oin (S)§ (R) 0608 Dbd=

Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
. x (S) M0k (R)Bodss Sy, 50 ()8 (R) S0k 2380 57

(S) 1s true. but (R) 1s false
_ (S) Sdgdw, 570 (R) esddgdn

(S) 1s false, but (R) is true

L« (8) o88gEn. & (R) s8gs

Question Number : 57 Question Id : 492863697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Abingdon tortoise i Galapagos islands became extinct within a decade after goats were
introduced. It 1s an example of

TS Grros® JDoAEI S8 STR50sS” BodlodIFYHLs s¥ndn 8 KFrod'
Do HIFningh. 26 338 GoTdnsm

Options :



Competition among unrelated species

. ;’Jﬂc‘ﬁg TR 35.:';55 ﬁﬁééﬁgu

Competitive exclusion

» TEES0 DFSFWI0H

Competitive release

4 é}fdﬂfiéﬁ xSl

Coexistence better than exclusion

DNTPo0y $oll BFEIS80 b

Question Number : 58 Question Id : 492863698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘Gemunules’ are related to

“BorgS)” B8 HonodoRKH
Options :
‘Endosmotic bodies” produced in some fishes to withstand the salt water in sea

L ® T IBS® ol B Faw) SoFnaE .;Jdg > 2odl \BIPRdm AT ETed

L

Aglomerular Kidnevs m ewrvhaline amimals that help i adjusting the changing salinities
1 the sea
outhlelog

o -.::;;Jd" LTG0l

TO 2o ool HHnod” drddd) odn mEdod 50T 8T T
i
b

3o

Asexual reproductive bodies produced by freshwater sponges to tide over the
unfavorable conditions of summer

Jowseod’ Bafre SHdge Soob dfp TS HodlE Sjosfer JSEHKT
@@oﬁ?éﬁ UTYET O



“Gelatinous cocoons’ that protect during winter in some terrestrial animals
S8 2HoS” forvos® SEnd I

Bo #héy Sord Baen
4 B

£,

Question Number : 59 Question Id : 492863699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Van't Hoff's rule states that

Options :
1 =

With the increase of every 10°C temperature the rate of metabolic activities become
half

©8 10°C said »ond S58csrdin Hras S

T

With the decrease of every 10°C temperature the rate of metabolic activities doubles
©8 10°C & 808 £58asrdin Beodrdd

2 o

With the increase of every 10°C temperature the rate of metabolic activities doubles
58 10°C &S Hon8 £5§asirdin BEoHi®

4 %

With the increase or decrease of temperature there 1s no change in metabolic activities
SIS DOAT BT Shiv HEEFELND Iobo

s ]

:'n*d::g Goddo

Question Number : 60 Question Id : 492863700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0

Following statement holds true for “Con cycle”

50 S0oirdd Donohod)

ZA

DOGEoR argmgiy Mhfodode
Options :



Glucose to lactate i Liver and Lactate to Glucose 1n muscle

s*Zodod” i”m?:ﬁ‘&u& UELéu SaBaHy EoddoesS J@ ook T8 ;"md:g

1 ®
Glucose to lactate in muscle and Lactate to glucose in Liver

- §oddosS” Krf’d ool orFEl Hin 578chod” BE H0od HrEFE Srdd
Glucose to lactate in the stomach and lactate to glucose in the intestine

, ETIoDod” irFE Bo0d 38 Srboin WS FS So0d KPFE S8y

3 2 o
Glycogen to glucese in the Liver and glucose to glycogen in the muscle
5*0ohed” AFeS ©ob (rfE oo Soddod” Krs'E Suod TFud Sddy

4 B d= ? d=

Question Number : 61 Question Id : 492863701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Total Lung Capacity (TLC) can be calculated by the following

TE DR iﬂsiagg;'nu (TLC) % & §08 Sns8mbn T ©EodEW

Options :

, » ERV+RV

TV+IRV

> B

. » ERV+IRV+TV+RV

. TV+IRV+ERV

<

Question Number : 62 Question Id : 492863702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1 List-1I
(a) Afia (1) Dblood pumping chamber
(b) Myocardium (11) Dblood recetving chamber
(¢) Coronary sulcus (111) Heartwall
(d) Ventricle (iv) Atrio-ventricular groove

ol T8 2EBEL0s

o -1 e - 11
(@) oEScdo (1) &5y Dodod 885
(b) Sybch Sods Kotz (i) o Sxs6e 88
(€) Smdod PSS (1) Srycosa e
(d) =g8E (1v) Q'J@oi.w?éu@mgwf &

The correct answer Is
of oS 2T

Options :

(@ @d (¢ (@

o @ () ) ()

(@ @M () (@
s (i) (V) @) ()

5

@ @ (© (d
w (1) (1) (iv) (i)

il

(@ @M () (@
gn (V) (m) (1) (1)
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Correct: 1 Wrong: 0
Which of the following pathway converts anunonia into urea in ureotelic animals

crtBrEds £Hod’ ) Sucho TT eI cbrrbalrm D EYB oI
Options :
Omithine cvcle

esBhBo Seoio
1 ¥ 2

TCA cycle

” TCA Sec%0

43

Cori cycle

8 gﬁ:ﬁ :J'E.'Jﬂﬁ:aﬂ

14

Nitrogen cycle
| é,.ElE }_r "’{-‘_] H‘_\_
4w PEEY SO0

Question Number : 64 Question Id : 492863704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In humans which one of the following pairs of ribs are called floating ribs

SrSHVS" & Bob EST HSE SEnse aded 2
Options :
1t to 7% pairs

; & 1&00d Tadew

8%, 9% and 10 pairs

g 0.9 %0000 103 28

[43

11% and 12 pairs

5 1135 SoBcin 123 zdexn



Last five pairs

4 8 D58 5 adlen

Question Number : 65 Question Id : 492863705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

In a car accident. a person lost the speech and 1s unable to swallow the food. What could be
the reason

.
w e p el o

£ 555 57% wardod” drLdbdrsdo Hoboln wFEihn Mokdl LE ‘Du;l&; 8. &8

(o]~ 3/1.}.3

EJ

4]

o

Options :
Abducens motor nerve was damaged

L2y TOETE DEFSE0

Vestibulo-cochlear nerves were damaged

g ST-FEAird Th BEFSE0

Hypoglossal motor nerve was damaged

25t ofad Toikséd EFE0

Trochlear nerve was damaged

Question Number : 66 Question Id : 492863706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Match the following

List-1 List-1I
(a) Pituitary (1) Calcitonin
(b) Thyroid (11) Epmephrme
(¢) Pineal (111) Vasopressin
(d) Adrenal (1v) Melatonin

BB TER 2sHYHed

arde -1 arde -1
(a) Sosoord Hod (1) s &'
(b) Foond (Kob (ii) JIDIPS
() HIHS FHod (iii) SRS
(d) 2B, ol (Iv) 30&'AS

The correct answer 1s

AR . i .
o0 oM BN

Options :

(@ (b)) (© (@
w1 () () @)
(@ (b (© (@

(m)  (v) (1)

[+3
B
=
Eﬁ

(@ (@ (o) (@
Lo (i) () @) (i)
(@ () (e (@

% (v) () (1) (1)

e

Question Number : 67 Question Id : 492863707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
In the following schematic diagram explains the mechanism of cell mediated immunity
where an Antigen Presenting Cell (APC) is interacting with a T-helper cell (Ty). Identify
X' and “Y " 1s tlus diagram

1oy

£m

S0 RGeS &' ATPESK JomeQodd cirogromdy & §od Shidw JI58B08.

B8 238 SDHE Eiw (APC) T-55%0% 820008 (Tg) D&, & SLdws® X' Hdakw

s
¢
24
c
c

£
¢

Tyeell
Ty =i

Antigens TCR

o8absTen

Options :

| % X-MHC-L: Y-CD4
. » X-MHC-II: Y-CD4
. » X-MHC-I- Y-CD8§

. % X-MHC-I-Y-CD8

Question Number : 68 Question Id : 492863708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0



In human male reproductive systen. identify the sequence of passage of spermatozoa
a) Semuniferous tubule

b) Vaseffenna

¢) Urethra

d)  Vas deferens

e) Rate testis

f)  Epididymis

g)  Ejaculatory duct

h) Vagimna of the female

= i al

SrSHU PEoA WSgdE B3 V) HeBothdn

§INS” DFSerre Sl SO So°C

a) DFTYES TS
b) HETIEw0

c) (HeESw

d) HET¥

e) 68 HoodyHoo

f) 283D

g) Hod TFh

L

h) & &= T¢sn

)

¥

Options :

L, & aA>bo»ec—od—oe—s>fog—h

g d>e—o>cob—oa-s>h—->fog

v a—2e->b-sf>dH-g—sc—oh

Al

T

g fme—sg—-h—sa—-b—c—d
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Aminocentesis helps to detect

Gends S0 TN Hoforioln SHP RN
Options :
Infertility
. QoETRTTr S50
. # AIDS
Cervical cancer
:"—".'l-__‘f"a-"{\ i - T "‘"-\.'F
5 ® ﬂunﬂ.”a‘mu M@Tﬁé 515“}_]!»)
Prenatal test to detect genetic disorders
. AGE 3HHS" adgd rof 08,3 aTdo
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Match the following

List-1

(a) Downsyndrome

(b) Edwards syndrome

(c) Patausyndrome
(d) Cri-du-chat syndrome

o T8 adHSSod

@) &5 HoES

(b) &E DoE'S

©) 58 dos'S

(@) F-%o-78 DoE'S:

The correct answer 1s

N0 00N BT

Options :
(@  (b)
Le () (i)
@ ()
,x ) (V)
@ ()
. o (i) (iv)
@ ()
(v) (11

4 %

(c)
(iv)

(c)
(111)
(c)
(1)

(c)

(d)
(i1)

(d)
(1)
(d)
(i1)

(d)
(1)

(1)
(i1)

(111)

(1v)

(1)
(11)

(i11)
(iv)

List-1I

Trisomy of 13® chromosome
Partial delection of short arm of
chromosome 5

Trisomy of chromosome 21
Trisomy of 18% chromosome

o - 11

135 8- B

585 FRrE’ 50" OF) oS &
Foydb Sod

215 FRr’n B

185 F3rs’ B

§

som



Question Number : 71 Question Id : 492863711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Options :

P

Match the following
List-1
Blood Group

(a) AorAB

(b) BorAB

(c) AB

(d O

§oB TED 2SIS0s
erdeo -1
5§ 8o

(a) AZwz AB

(b) BTa AB

(c) AB

(d O

The cormrect answer 1s

N0 LS00R T[T

(@ (b (o)
o (1) (i) (i)

(@ () (0

« (v) (m) (1)

(@ () (0

o @) @) ()

(d)
(1v)

(d)
(1)

(d)
(111)

List-1I
Clump formation with

(1) anti B serum

(11) antiAandanfi B serum

(i11) no clhump is produced with either of
the (A or B) antibodies

(iv) antiAserum

o -11
ﬁ:fﬁtﬁdaém
(1) oSros Bado
(1) odrold AdBosn dirod Bhbow
(iii) A8z Bove @B8d3508 Hi)Ein abiTFdHe

(Iv) oSrodl Addo



(@ m (© (@
(i) (i) @) (v
4, ®

Question Number : 72 Question Id : 492863712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1 List-11
(a) Hyperkaratosis (1) Sex-mfluenced inheritance
(b) Hypertrichosis (11) Sex-limited inheritance
(¢) Beardinman (111) Y-linked inheritance
(d) Baldness m humans (1v) X-linked dominant inheritance

Eob T8I 2855508

ardlee -1 erdar - 11
(@) TrHf BEERR (1) Sol-Perdsd vboiss
(b) Tus B (i) Oon-2808 viodorss
(€) HODoS® Kghn Db (iil) Yoo ofdcass
(d) SrdHIS" ahse (Iv) X-S5of) 2rdd esdosss

The correct answer 18
ol oo 2T

Options :

(@ () (¢ (d)
Cw () (v @Gi) ()

@ () () ()
% (1) (v) () (1)

(a) (b)) (c) (d)
5w (V) (1) () (1)



(a) (b) (c) (d)

Lo W) (m) () (1)

Question Number : 73 Question Id : 492863713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following application is not related to DNA finger printing?

DNA $oi6 (Rodioh sfddTos’ 26508 067
Options :
Inheritance pattern of gene through generation

JAG STros’ w8 alogd Soed JTTEH0

Study of ontogeny

esoEd” Ew »..éﬁ"u...dmo:‘-w

Establishing patemiry;’ma[emir}' more accurately

&é&@?&l [ ScEyE Ry DINBOIT ﬂn:ﬁu:‘:’nia

= el

14
"

Protection of Endamgered species

4% Hen e JodEm

Question Number : 74 Question Id : 492863714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Experimental verification of chemical onigin of life was successtully proved by

5 st ¥

Srolon Zd'EE J0mm [RAFTY) L2oRSedolT JErRonIRIE

Options :
Louis pasteur

{m

o =
| % JPM-:"U



Charles Darvin

e s
o # J“Qiﬁ F&Em

J.B.S. Haldane
- JB.S. J@E

Urey and Miller
SSwB Hobodw e
4. =

Question Number : 75 Question Id : 492863715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Identify the sequence of evolution of Homosapiens
a)  Rama pithecus

b)  Homeo habilis

c) Homeo erectis
d)  Australo pithecus
e) Homo neander thalensis

f)  Homo sapiens

TIrDOADHT SrSS HoerH SO SEHVEST) HGoHBEN

d) ede” D855

(e
e) SO Jarols FEDR
f) &S Do)

Options :
, # a=2b—osc—od—oe—T

s a—>daboc—oest



s 5 d—2a—-b-oc—oe—t

s 8 d—sa—=se—>b—osc—ft
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Match the following
Bob T8 adLdded
List-1 List-1I
ade -1 e -1l
Graph Tvpe of phenotypic distribution

e S8medsrws

(a) (1) Directional selection

S0

{8,

ALlewts)

(b) (11) Stabilizing selection

%Eéd?ﬁ Sémo

(c) (111) Disruptive selection

»

S8 oTefzcle)

(d) (iv) Newlyevolved population

Edmr Hmmine Jobs a3y

The correct answer 1s
b oD BIEY

Options :

(@ b () (@
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(a) () (¢ (@
cw @Qv) (1) (u) (1)

[

(a) (b) (c) (d)

Ly @) @@ (@ (i)

(@ () () (@

gu (v) () () @)

Question Number : 77 Question Id : 492863717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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In MOET (Multiple Ovulation and Embryo Transfer) at what cell stage embryos are
recovered non-surgically and transferred to surrogate mother

25ud wofiddo, Dot w68 FoEBEEST JEn SIS &5 oo %é_ﬂééﬂ@?& i Taphile
oo 0Edod afddd HonFchind'VE SrdHdH
Options :
i - 6 = 8
= % 8 = ].6
Zygote (Socsnd Dad)
3 % £ 2
o, 3-32
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With reference to ECG maich the following

Set-1 Set-1I
(a) Enlarged Pwave (1) Hyper calcimia
(b) Prolonged Q-T mterval (1) Tachy cardia
(¢) Prolonged P-R interval (111) Brady cardia
(d) Shortened P-R interval (1v) Myocardial infraction

(v) Enlarged afria

ECG & Poz0odd 5o T80 adidded

erdee | arda 11
(a) 2BAS P&boiton i) 586 sodocs
(b) Q-T s5oiio DEAD (i) &r8sgasr
(¢) P-R&8olic 2663 (iii) erésgois
(d P-R&dofio #5938 (iv) SBrsgos a5 FEES

(V) 28AS ¥0¥en

The correct answer 1s
wh oy 2o

Options :

(@ () (© @
L= () ) (1)

(@ (b (© @
= (v Gv) Gu) (1)

P

(@ () (© @
v (V) (v) (1) (1)

Lit

(@ (M (© @
() (@) @ W



Question Number : 79 Question Id : 492863719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
C peptide 1s mainly present in

5 = A e ] b K, L i iy =

C a.f__-..;.{uﬁ EEJ'E o.u-.-l%’i.lgu” roliood
=
Options :

Proinsulin
o & 2808

Insulin

LS )

Chain A of insulin
_ 2800 B, Afeod
Chain B of insulin
2o G B e
4 Cial 5§
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Match the following
List-1

(a) Carcinoma

(b) Sarcoma

(¢) Lymphoma
(d) Leukemia

Bod 78 2angbod
ardar -1

(@) 58S

(b) 8.8
(c) Oozrsr

(d) wogsdocio

The correct answer 15

w8 PO 2ard

Options :

(a)

L w (iv)
(a)
(i)
(a)
5 v (V)
(a)

4 = (111)

(b)
(1)
(b)
(1)
(b)
(11)
(b)
(11)

(¢)
(i1)
(¢)
(11)
(¢)
(1)
(¢)
(1)

(d)
(111)
(d)
(1v)
(d)
(111)
(d)

(iv)

(1)
(i1)

(1v)

(1)
(1)

(1v)

List-1I
B and T Lymphocytes
Connective fissue

Bone marrow cells
Epithelial tissue

ardae - 11
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Question Number : 81 Question Id : 492863721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the Set-I with Set-11

Set-1
(a) PLANCK
(b) LIGO
(¢) Large Hadron Collider
(dy ITER
SEE-1 0 DEE-1IF 28G8h0
5¢38-1
(@) &ro§
(L) oF
(€) =8 FES Beorawad
(d) ITER

The correct answer 1s

[ % R T )
[

’
F T O
SO 23D

(1)
(11)
(111)

(1v)

(1)
(11)
(1it)

(1v)

Set-11

Gravitational waves
Nuclear Fusion
Radiation from Big Bang

High Energy / Particle Physics

543811
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Options :

@ ® (© (@

Cw i) @) () )
@ ® (© (@

L ) Gi) () )

1

(a) (b) (c) (d)
5= (1) )  @v) (i)

(a) (b) (c) (d)
o (1) (1) (v) (11)

N
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Correct: 1 Wrong: 0

Which of the following physical quantities set has different dimensional formulae

£

Bod mwdd F68 orde HEES° TN IH XE TFinow o THe

bl
@..-

Options :
Angular Impulse. Planks constant. Stefan's constant

| S'fok ©S'ENsm, o prossn, RS Jorosin

1
Energy density. Wave Intensity. Stress
¥8 Frold, S8oif HE, PHEmodn
2 =
Radius of gyration. Angular displacement. Rydberg constant
| o ZO05 grgio, Sdoh TEForsn, 38af Yooks
Velocity gradient. Acceleration. Gravitational Potential
N B o BT+ o n il T
0 @RR0E, drlpdu, Mg riohs
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Correct: 1 Wrong: 0

The equation of motion of a particle is given by ¥(f)=2¢" +#> +4¢ . Then the average
velocity of the particle between the time r=3stor=15s1s

. . e apin A W .
2,8 E0 A58 dECwo X(F)=2C +1" +4 5

o Itto

aaad. =38508c0 I=55e S’nqﬂg

25 Sad) ©

Options :

| » 100 my/s

7 110 m/s

ha

2 % 90 m/s

, % 140 nvs
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Correct: 1 Wrong: 0

Consider a ship traveling due east along the equator with velocity v,. If southeastern wind
blows at an angle of * ¢ "to the equator with velocity *v’. the wind velocity relative to the ship
v'and the angle between the equator and the wind direction in the reference frame fixed to
the ship are

grdosig T Joad S8 8 J&* 2.8 T8 Vyanod HoSrsdnoes. gordodig Spi ¢ Fmods’
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A cannon ball 1s fired from a building of height /r at the sea shore with a velocity v at an
angle of orupwards from the horizontal. targeting a ship art a horizontal distance of S from
the shore, as shown in the figure. If ‘g’ denotes the acceleration due to gravity. tan o
govermed by the quadratic equation 1s
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A girl throws a stone horizontally from the roof of a house 12 m above the ground with a
speed of 15 m/s. Neglecting air resistance. the tfume 1t takes for the stone to reach the
ground 1s
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A rocket 15 about to launch upwards from its platform. The engine ejects gas at a rate of
2100 kg/s and the molecules are expelled at 50 kn/s. If the above condition is just sufficient
to make it rise upwards. the mass of the rockert 1s

(Assume g = 10 m/s?)

o8 308 S0d D BIS' J0BErAE w8 TBE Lo ¢Hb. Tl odbogdn 2100 kg/s
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Three blocks A. B and C of masses 1. 2 and 3 kg. respectively are attached as shown in the
figure. The force of 30 N 1s applied to the block A so that the system as a whole moves to
the right with constant velocity v. There extists friction between the surface and the blocks.

Then the contact force exerted by block C on B is
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Consider a 50 m high water falls. with water flowing at a rate of 1.2x10° kg/s. Using the
power generated due to this process. assuming 100% efficiency. the number of 60W bulbs
that can be lightup 1s

50 m I Ko sodFdod® 1.2x100 kg/s Tend® A% HHrEu0d. & DB Ho 2dow
FRoggoids aadrhiod J) 60W oo 30A0ESdnd (B8 888 100% wiosHodwo)
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Assertion (A) : In analysing the problems of inelastic collisions. the law of conservation
of momentuni and the law of conservation of mechanical energy are to be
emploved

Reason (R):  Since the laws of conservation of momentum and mechanical energy are
fundamental laws. they should hold good in any situation.

QHPEI0 (A): oPETIE eHirddny SHodgod JFRoBLPE |BIgRH ISgEcdn
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Which of the following 1s true?
% |Bod TR A& HEzH0?
Options :
The (A) is correct but the (R) 1s mcorrect

(A) 580338 58 (R) $65058 576



Both (A) and (R) are correct and (R) 1s the correct explanation of the (A)
. (A). (R) Boder 38153, (R). (A) 8 8663035 D58 2008
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Both (A) and (R) are correct but the (R) 1s not the correct explanation of the (A)
(A). (R) Sudr $05083 577, (R). (A) 8 205508 238 5760

Both (A) and (R) are incorrect
, Q). (R)Bodr £68050 &9
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A hardboiled egg (H) and a raw egg (R) are both spun on a flat table. They are stopped
momentarily and released immediately.

Which of the following statements is correct?

o SEEBES 1S Soredy (H) 56050 508 F&MH& (R) 30808 ¥ dde 2ud
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Options :
(H) remams stationary whereas the (R) starts spinning again
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(H) spins again whereas (R) comes to a stop
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A turbine requires 10 sec to go from 1ts 1dling speed of 1000 rev/min to 2000 rev/min. The
number of revolutions it makes in this period 1s close to

o8 LOBS o0 R0 $& 1000 revimin Sood 2000 rev/min $&8 528 10 sec en
SES0b. & Fuod’ b Tokn Fhoerw Ddopg SEHm
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A spring stretches by a distance x when a mass 7 1s hanging from 1t. If the spring undergoes
simple harmonic motion when a mass 2 m is attached to this spring, then the period of
motion 1s
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Consider a space ship launched into a circular orbit close to the earth's surface. If the

; il . [y M [2yM i
orbital and escape velocities are given by v = ’/R and v, = ‘; . the additional

velocity to be imparted to the space ship to overcome the gravitational pull 1s
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Elastic strain energy of 10 T is stored in a loaded copper rod of cross-sectional area
2x 107 m” and length 0.2 m. The Young's modulus for copper is 125 GPa. The load on the

copper rod m kN 15

0.2 m e oot 2x107'm* SdgHes Srogo 8OA, 0o IS ¥ oh 5* 10T o

ROTLE DEYG 9§ BoDSDPHS0s. Th iofl rego 125 GPawans, ooh 4 Ic050HI
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An aeroplane with wing area 100 m? is travelling in a level flight at a speed of 800 km/h.
Using sensors placed on the surface. above and below the plane. it has been deduced
that the speed of air above 1s 10% higher than that of the below. Assuming density of air to
be 1.5 kg/m’. the mass of the plane is

100 m* 3%, Frogoie o8 DS 800km/h $&& §8e SSroddorr mOS™ HoSr535308.

VI3 P Doow ol GHtgured RN eiddriod J50Y D e md
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Two metal plates each of dimensions 20 cm » 50 cm and thickness 2 nun are soldered
together as shown in the figure. Let the first plate P, 1s at 100 °C and second plate P, 1s at

—10 °C. If the thermal conductivity of the two plates is K, = 44.6 W/mK and
K, =554 W/mK. then the heat flow through the plates at the mlnlered junction 1s

20 cm % 50 cm S8 5wy 0boin 2 mm boddn e otk &) Jefod Stod”
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Two 1dentical shaped metallic spheres A and B made up of same material of mass ‘m’” and
*4m’ are heated fo attain a temperature T, and then they are placed in a container maintained
at temperature T, (T, <T,). The spheres are thermally insulated from each other. If R 1s the
rate of change of temperature. then the ratio R, & Rz 1S

GSgore ‘M’ Hodcdn 4m’ o o Dot &8 IEFod wsvEhn £ o8 HIrdind Bobuhd
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When 50 / of air at STP (Standard Temperature and Pressure) is compressed isothermally
to 10 /. the amount and direction of heat exchange of air 1s

[ Use P,,, = 100 kPa and In (0.2) =—1.61 ]

STP (|rdre88 sd DT
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A vessel of volume 2 litres contains mixture of N, and O, gas kept at temperature 27°C and
pressure 2.5 atm. If the total mass of the gas nuxture 1s 6.0 gm. Calculate the individual
masses of N, and O, 1n the vessel. respectively a [Use R =8.314 J/mol. K]

2 bbog BossbErRiN EPEST N, Sodch 0, Tainde DEHsn 27°C H6akn
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A 20 cm long cylindrical column of radius = 2 cm 1s closed at one end and open at the
other. The fundamental mode of this column 1s resonant at frequency /. The amount of
water (m/) that should be added to the column so that the fundamental mode of the new
column is resonant at frequency 2 f 1s
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A pomt source is located at a distance of 20 cm from the front surface of a symmetrical
biconvex lens made of glass (n=1.5). The lens 1s 5.0 cm thick and the curvature radius of
its surface 1s 5.0 cm. The distance at which the umage of the source formed beyond the rear
surface of the lens is

n= 1.5 38LS5edo Ko mMerd SSrHBod Tudforsd §LE doodood 20 cm
drfod” wE Do adfo e¢Hb. & BLEy oddw 5.0 cm $odcin do gz I7g>dhn
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The focal length of the objective and eyepiece of a compound microscope are 3 ¢cm and
11 cm. respectively. If an object is placed at a distance of 5 cm from the objective and the
least distance of distinct vision 1s 25 ¢, the magnification produced by the microscope is
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A light source of wavelength 580 nm falls on a single slit of width 0.3 nun and gets diffracted.
For a screen kept at 2 m from the slit. the width of the central bright fringe 1s

580 nm&8o0rizg gofio 5708 0.3 mm Idey o JEVOED H& DSIH50 BodEs. DOSKOE
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Four electric charges. each of charge = q. are placed at the four corners of a square of side

4 cms as shown in the figure. The direction of the force exerted by the charges at B. C and
DonAis
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A parallel plate capacitor with circular plate of radius *R” and distance *4 "apart has a dielectric

. _ . . R ;
medium of dielectric constant 5 upto a radius of — from the centre as shown in the figure.

The capacitance of the resultant capacitor 1s
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Two copper wires A and B are measured to have same weight. If the wire A 1s 25 times
longer than wire B. the ratio of their electrical resistances (Ra/Rg) 1s

Bokd ooh &ifes A S8din B o 5FO05%H o8 2Nk 0h sonow. B 188 Aan
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The capacitors in the circuit shown below are charged by keeping the switch °S™ open.
The amount of charge passing through the segment AB of the wire when the switch 'S'
1s closed 15
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The magnetic induction of the field at pomt *0° if the cuurent 7 * carrving wire has the shape
shown in the figure is

(The radius of the curved part of the wire is *R” and the linear parts are assumed very long)
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An electron moves in a combined electric and magnetic field. the electric field being

1.5+10° V/m and magnetic field being 0.75 T. If the resultant force on the moving electron
1s to be zero. the minimum velocity of the electron in km/s is

o8 doge Sockug g bt wohIed Jged” HairBiyed. vobha s §go
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Consider circular loop of radius “-"and *N ™ turns with current */ * flowing through it. The
loop 1s kept 1n a region with magnetic field of magnitude *B” 1n a direction which makes an
angle *6 " with the loop (as shown m figure). The magnetic potential energy stored in the
system is
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A conducting bar of length 50 cm rotates with a constant angular speed of 100 rad/sec
about a pivot at one end. If a uniform magnetic field of 0.1 T 1s directed perpendicular to
the plane of rotation. the emf induced between the ends of the bar is

50 cm FEHKe w8 58 Sodin oo of 380 Dodedy Sdonm 100 rad/sec

RUFRSGE Podn Tomdod. Fhn dodd voalis” 0.1 T edhined 3
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In the circuit shown below. the capacitor is charged by keeping the switches S, closed and
S, open to a potential difference of 10 V. The current in the circuit at any time. when S, 1s
open and S, 1s closed producing a potential difference of 5V acraoss the capacitor. 15
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A plane harmonic EM wave with plane polarization propagates in vacuum. If the electric
component of the wave has amplitude E;; and frequency 1s v. the r.m.s value of
displacement current density is

Trdgod’ af Sdode (ISRl ddode EM Sdofio Hoirdothiad. ddoiil Jdogd
0¥ BouRH0008 kg Soboin DSrdghn v wondi, oo Sdgs RaiT roldd
[NLS 82

Options :

T, NEY s &g VI,

o o
=R 'Htﬂ lEm

- 2 ey VE,, sin(er)

. V2me, VE, sin(wr — kx)

Question Number : 115 Question Id : 492863755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A monochromatic 633 nm laser has a power output of 3 mW. The number of photons emitted
per second by 1t is

w8 633 nm A85Y Sad GeES Fdggo 3 MW gond, Sud Sob B WESHS
JendT PID Dopg
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The primary finding of the Rutherford’s expertment was that

s al EL E oA . e LT A T
GrHoRy ROIrNo GIns), FHaos w00
Options :

alpha particles have a positive charge

Ee.?‘;:léea*m BT a7 T ) BOH tsodoxn

alpha particles have electrons

Ee.rgéaa*meﬁi* JOER ok

o
5

alpha particles do not deflect from positive charges

sonimre JoaTedy Jdodo 5

Ly
)

atoms have a nucleus with positive charge

o SOSrmden STa¥ BoElodn 59N wolrow

Question Number : 117 Question Id : 492863757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A 57600 W nuclear reactor has a nuclear fission rate of 1016 per second. If the energy
released per fission 1s 200 MeV. the efficiency of this reactor 1s

2§ 57600 W oS8 80sr566” Bogs a9y e 1016/sec. 98 386" 200 MeV ©
#8 DSe wond, & DuSrEs SES

14
u
I~
L
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The logic operation of the circuit given below 1s

n

Bod RG2ES Swohd) 68 PoToddn

Options :

.« OR

NAND
£

& AND

L

, » NOR

Question Number : 119 Question Id : 492863759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong : 0

The output “F" of the logic circuit given below 15

X» E

Options :

. ST



5 % XYZ

-7

T =

.« XHY)Z

Question Number : 120 Question Id : 492863760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Assertion (A) : For good transmission from a linear antenna, we use high frequency signal.

Reason (R) : For good transmission, we need high power. The power radiated by a linear

. : V . =
antenna is proportional to [;} where / 1s the length of the antenna. v 1s

the frequency and e 1s the speed of light

SRHES0 (A): THoD wola od wdd Lﬁ_ﬁm‘wa Q8 s qgjéésmmhe.: wﬁl@fx:: TG

s'deo (R): i |

§7
o
9
i
o
5
£
718
hA.
Lina
9
EA
G
et
ok
?
E
o
£
S
E’
o
&e
i
£
S
&
&z
um
Cx
3
9
Cx
ax

2
Iv
is-*;’mgﬂo [—] B oS HrOPES0S” Godoio. a8 & =386 o

DEY, v 30 FSHIghn B0k c LIH 5708 56

Which of the following 1s true?
& 1Bl TUS° A HBgH0?
Options :
The (A) 1s correct but the (R) 1s mcorrect

, (A) $B30&EE 570, (R) $6g0E6 5760

Both (A) and (R) are correct and (R) 1s the correct explanation of the (A)

(A). (R) Bods 205083, (R). (A)§ 566308 D5 adged

P
Both (A) and (R) are correct but the (R) is not the correct explanation of the (A)

p (A), (R) Sodsr 3033083 570, (R). (A) § S6508 I8z 5760



Both (A) and (R) are incorrect
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Question Number : 121 Question Id : 492863761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which transition of the hydrogen spectruun has the same wave length as the Balmer transition
i, =4 to ;= 2 of He™ spectium?

&8 $55Los T D $8588 SSorBg o, He™ Sgdto
Ny = 2 5854 S0k Dorgls DdrdHw
Options :
— - —2
L% I_I1 Z, ﬂl 3
— . —"
s ¢ [=lin,=2
— F—
i 0=3HD,—4%
- "
— ] = %
4 B I_'l1 :&.I_L2 5
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Match the following
List-1
(a) Rutherford’s scattering

(b) Heisenberg’s uncertainty principle

(c) Schrodinger equation
(d) Shape of the orbitals

808 TED BSBESBW

e -1
(@) Srdbdg HEESmB
() Trdswd sdfdsr Jobbosn

(C) Er&oib SoBGeadas

(d) s Sireh w58

The cortect answer 1s

o8 Eon

Options :

(a)

g = (11)
(a)

x (1)

(a)

2 ® {ﬂr)

(a)

i @)

&

23720

(b)
(111)
(b)
(i1)
(b)
(11)

(b)
(1)

(c)
(1v)
(c)
(iv)
(c)
(1)
(c)
(11)

(d)
(1)
(d)
(111)
(d)
(111)

(d)

(111)

List-1I
(1) Electron position and momentm
(11) Quantum mechanics
(111) Subsidiary quantum niumber
(iv) Nuclear model of atom

e - 11
(1) Je.:@‘?:’; P00 Boboiw @égﬁﬁm
(i) sgoboo ciroGE 9 Hw
(i) J&FoiE scolio Domy

(Iv) So|88 S¥Sorean Sdooca

Question Number : 123 Question Id : 492863763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Among the lanthamdes (except Eu and Yb) the general trend of atomic radius 1s
Trogtod” (Eussbdho Yb &) $88ramn Trgardy) odo @58

Options :
mereases with atomic number

HPBre0 Sopgd DWIDHS R

constant with atomic number

S8HT0 E&ng::géi E:gb’ui"r “otnod

2
|

decreases with atomic number

SOSren Hopgd e‘SﬁJéﬁJD&n

1
%

fluctuates (increases and decreases) with atomic number

STSre0 Dopgd ol (DHMHE0s bodn SHdod)

Question Number : 124 Question Id : 492863764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For an element (M). IE, and IE, are 178 and 348 k cal mol™. respectively. What is the
energy (k cal mol™) needed for the following reaction?

; 2 »
I'VL:E] — M{EJ =1 ZE

w8 Sorebd (M), IE, sbcsn IE, o 5661 178 So06cko 348 k cal moll §ob wdsso

sSehd ¥8 (k cal molt ©&%) Jod?

hi{g} — h‘[i—g_} -+ ?.E_

Options :
| % —348
5 o 526



L% 4348

Question Number : 125 Question Id : 492863765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following species have the same bond order of 2?7

+ T+
NE- O:- - CE = N 5 ]
Options :

N,.C,

1 &

0N}

a3 2

3 o 03‘ CI

L 0L

Question Number : 126 Question Id : 492863766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Identify the set of molecules whose central atom does NOT obey the octet rule

SOISE DHoreand) MRS AoHHrd) FEodl wooPHo JWER Hiothdwn

Options :

€0, SEL, PE,
1 ® 4 . F
5 & PF..H,50,,SF,
. PF.SF,.scCl,

. » H,50,.€0,.5C,



Question Number : 127 Question Id : 492863767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The CGS unit of coefficient of viscosity 1S

Dy af ag el WG AL -
M'ﬁ::‘]"‘"_? i a:!:an‘:!ag:l C Gb PP v = e
=l

Options :
P
g NS

r
{

Question Number : 128 Question Id : 492863768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The volume of O, (in L) that can be produced at STP by heating 112 g of KCIO, i1s
approximately
(Molar mass of KC10, =122.6 g mol1)

112 g KClO, &% 3863k Dddery O.,505585»m0 (Led®) STPSS &dz=damr
= 3 A A

(KCIO, 3er6 (555078 = 122.6 g mol)

Options :

20.1

1 "

10.1

&

r__;,_.
=
—1

il

. 40.2
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Correct: 1 Wrong : 0



Calculate the volume (in L) of hydrogen gas liberated at 27°C and 760 mm pressure during
the reatment of 1.2 g of magnesium with excess hydrochloric acid

[Atomic mass of Mg =24]

12 g o ool ©§f TMEE05 shod $dgmaeddHds, 27°C Sobosw 760 mm

2O 38, Jdderd Eas Towd DIH8Errd) (L od) 8§ oddn

.":I
Y
[
I
f

Question Number : 130 Question Id : 492863770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

M
Calculate the normality of a solution obtained on mixing 100 ml of EHESO:}. 50 ml of

; - |
g}INC@ and 25 ml of ?HCI solutions
£ N o # g P s o

100 ml & _H:SO4 S50 ml & ?H:NO}r S08c50 25 mle —qHCl oW Besioh Qﬂkfﬁ‘a
ol U 08ER B otiod
Options :

. % 0.52N

. » 0.29N

. 044N

14



Question Number : 131 Question Id : 492863771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 10 L of an 1deal gas at a pressure of 5 atim expands 1sothermally and reversibly to a final
volume of 100 L. the work done and heat absorbed m this process (in Lit-atm), respectively
are

A

5 atm SéSa 3¢ 28 wddorainy 10 L Soed 100 L S 3305 ﬁfj ). SaeBos TgES
S18oRS” 2GRN, Herods wRdn (Lit-atm oS7) S5

Options :

o W=-115.15.q=115.15

g =11k g===J131>

]
L

o

« W=11515 q=1151

U 4]

L

W==113515, g===1158/15

g %

Question Number : 132 Question Id : 492863772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a mixture of 0.2 mole of N, and 0.6 mole of O,. 50% of N, reacts to give NO according
2@+ O2@)
in a closed vessel. Calculate the ratio of the initial to final volume of gases

fo equation N = 2NO,, ata constant temperature when the reaction conducted

a8 DEFLIWS 0.23rdw N,Sotdin 0.6 Trdw O, sanon. R0 adiid 3§ ad dornd
TES” MWEFRD0S'D 50% N, §ob Lddbabn @Esddn $UgTod NO S J8y0dod.

Nyz) 055y = 2ZNO,y TosnIo 70 So8ain S8 2D0Ire AE SE othlw

Options :
1 ® 20

2&@0.5

oo OB

i 10



Question Number : 133 Question Id : 492863773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For the following reaction 2NHj; .y = Ny, +3H,(,,. 2 moles of NH, are introduced

into a one litre closed vessel. At equilibrium. if 1 mole of NH, was lefi. calculate the
approximate value of K_

Bob SSg%0

Ddoed 58, 1 76 NH, bAdck. K G, Hdrd Jeodds S5 othdn

Options :

L% 0.7
. 1.69
s

, % 1758

Question Number : 134 Question Id : 492863774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Hyvdrogen peroxide reacts with lead sulphide to produce lead sulphate. Identify the other
product formed

TIFRS DUU5)a, TaIBYEF JIgToh 8L Na;lif‘:’:., DENEIWIRI. JTYES DT
&
e LI

Bolradgsnde Hioyhwn

Options :

O,

1 ®

S

= % L

, HO

L

PbO



Question Number : 135 Question Id : 492863775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Identify the correct statements from the following

a) Liand Mg form solid hydrogen carbonates

b)  LiCland MgCl, are soluble in ethanol

¢) KO, s soluble in water and hiberates O, and H,0,

B8 JSCpeSt HOTVII IJ?

a) Lidsbosn Mgen &of @'as s 3ol 8 HIrew

b) LiCl 58050 MgCl, ev 285°66" §dibaon

¢) KO, 8¢ 8kibdoed Ho8oin 0, fboin H,0, ol ddede Roduds

Options :

, = a.b

4 A.C

3

1
%

Question Number : 136 Question Id : 492863776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When borax 1s heated during borax bead test along with CoO (Cobalt Oxide) on a loop of
platinum (Pt) wire. it swells up and produces a blue colored bead. Which of the following
compounds is responsible for the blue color?

So8 I 5685, TogH Co0 (Ferg wya)s’ F6Se (P &rp IadvsHw o
doh 28 AT o Yo Whdos. o muéuma; 0o o $J0ddn o T8
Q67
Options :

Pt(BO,),

1 ®

_ Co(BO,),



_, Co(BO,),

NaBO,

4 ® =

Question Number : 137 Question Id : 492863777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Producer gas 1s a mixture of

Ereogtd gl B9 doEdodn

Options :

Question Number : 138 Question Id : 492863778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Near the south pole. the ozone layer depletion 1s mainly due to the formation of

(s,
Eﬂ.

&7 iT' .

E-h

B8 (Poaawn A8
Options :
Chlorine nitrate

SO,.S0, and H,S0,
S0,. SO, S6dis H,S0,

2
*

Acrolein

= . 3@55



Peroxy acetyl nitrate
wor§) JRES I@E
.i]:_ ﬁ 5 —— e

Question Number : 139 Question Id : 492863779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following
List-1 List-1I

(@) C+2Cu0—2- (1) Yellow precipitate

(b) 3Na,[Fe(CN), |+2Fe,(SO,), » (ii) Turns lime water milky
(¢) Na,S+Pb(OCOCH;), — (i) Black precipitate

(d) 'NaIJrAgNoj — (1v) Prussian blue

erda -1 er@a - 11
(a) C+2Cu0—2- (1) Hd0H Cord g

() 3Na,[Fe(CN) |+2Fe,(SO,), » (i) ©o&59 S8 JFood Sriyes

(c) Na,S+Pb(OCOCH,), — (iil) Send Sors wIES%0
(d Nal+AgNO,; — (iv) ©%5 o

The cormrect answer 1s

ol o 2T

Options :
(a) (b) (c) (d)
, = (111) (1) (11) (1v)
(a) (b) (c) (d)

RN T N S 11V N )



(a) (b) (c) (d)

5 (1) (v) (1) (11)
(a) (b) (c) (d)
. & @) (1) (1ii) (i1)

Question Number : 140 Question Id : 492863780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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What 15 the major product (X) formed i the following reaction?

NHCOCH;
| Conc.HNO; | ~7
@/ Conc. HySO; %
A

§ob S8z’ Ay B edyHEin (X) 8?2

NHCOCH,
. SSHNO; -
g HaS0y » X
A
NHCOCH,
: :: iﬂoj

& O

NHCOCH,
& :::

\:?1? D’Jl

NHCOCH,
:: iﬂoj
G

Options :

[+2



NHCOCH,

Question Number : 141 Question Id : 492863781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Which one of the following compounds produces propan-2-one and ethanal on ozonolysis?

20bodn afdad :.36‘:,:5&::53:353 Q67

N

Bod IJTes’ LEUESpo Tor PFom-2-4

Options :
But-2-ene
eavgds-2-58
1 B 8
2. 3-dimethylbut-2-ene
2. 3-GdedarsS-2-%n
o % B
Pent-2-ene

- e BT
i oS- 2-Si

L

2-Methylbut-2-ene

2-20FSerglS-2-&5

Question Number : 142 Question Id : 492863782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct : 1 Wrong: 0

Due to Frenkel defects. the density of the 1onic sohds

= ¥ 4

2088 S are S oddra HNIATTe Folds
4 e el

Options :
Increases

L xS



Decreases

S0
5 8% N

Does not change

. ¢ ST

Depending on the composition it varies

z Loy a8 drEod
4, * =

Question Number : 143 Question Id : 492863783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1 litre of 0.1 M solution of was converted into electrochemically 1n acidic
NO; NH,

medium by passing 1 A current for 960 seconds. The molar concentration of inthe

solution 1s

ey drddos' 1 Ot 0.1 M TS d8gd Srahdsdod m, LA
QJCSJJ'%.JESH 960 B0 ’i""f...u eTore o
Options :

% 0.0048

= 0.017

[uJ

.« 0.0017

w 0.048

e
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A complex represented by CoCl; - xNH; was dissolved m 1.0 kg water to make 0.1 m

solution. When this was mixed with stoichiometrically requured amount of solid AgNO,,
28.66 g of AgCl was obtained. Assume 100% ionization of complex occurred and the co-
ordination number of Co (III) 1s six. K, of water is 1.86 K kg mol~t. What is the value of
A T.ofthe selutionupon adding the AgNO,? (Molecular weight of AgClis 143.3 gmol™)

CoCly-xNH; e $o3d) 1.0 kg 486" 50008 0.1 m @SRy SSrshdSr. &
EHerRB Fowsdr JWhsor Ko AgNO, S 950, 28.66 g & AgCl 2dGob.
Doz 100% woHdgbo BobdEd Hoosn Co (III) SFufIas Sopg b ©
wE b0, 88 K dens 1.86 K kg mol™. AgNO, % 58259% @snd AT dens
Jo&? (AgClarerb $ogoms 143.3 g mol™)

Options :

| 0.558°C

# 0.186°C

2

.w 0.372°C

W]

.u 10°€

Question Number : 145 Question Id : 492863785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

What will happen if a copper spoon 1s used to stir a solution of aluminium nitrate?

Borghiche JBE EHod) w56 Bowd FOLIYHEH I 2hSos?
Options :
The spoon will be coated with aluminium

BoTp Lorgiblode Fd GBS0
B E =

Al-Cu alloy will be formed
. o ACu DESS o A Ed0b



There is no reaction

o
i

" g o N gl
=

There will be an explosion

2.8 EJ??‘;:J#..:;‘E:U 2SI d

Question Number : 146 Question Id : 492863786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Which of the following graphs does not represent a first order reaction?

F o o .

Bob mRed” J& Jndd |Bdrof J8gss Srdoico?

[A] In [A] rate 1 Y

|
.
J

Options :

x a.b.d

1

s a.c.d

[

b.c.d

o

« ab
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Match the following

Bod

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

List-1

Oxadation of SOz(g) to SO,(g)

Combination of N,(g) and H,(g) to form NH,(g)
Hyvdrolysis of sucrose to form glucose and fructose
Hydrogenation of vegetable oils to form vegetable ghee

TR BB

erda-1

SO,(7). SO,(a) # e Esmsn

N,(=) Sotoin Hy(a) o gows S NH (@) béﬂjﬁa&.}
BrFE meoddhe Db KrFE Sbokn PESen Jdde
58 Bonodd Boro TFelidno So 5B Sowohd
Soog DBy

The correct answer 1s

o0 ©2om 2T

(a) (b) (c) (d)
(a) (b) (c) (d)
s x @ (1ii) (i1) (iv)
(a) (b) (c) (d)
=« (ii) (1ii) (1v) (1)

(1)
(i1)
(111)
(1v)
(V)

(1)
(11)
(111)
(1v)

(V)

List-11
Ni

Pt
Fe

H,SO,
Pd

ada-11
Ni

Pt

Fe
H,S0,

Pd



(a) (b) (c) (d)

L, (D (iv) ) (iif)
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Which of the following contains highest purity Fe?

Bod T8S” wdchE JTHRGE e Fe &odd 287

Options :
Pig Iron
Cast Iron
5% 5 olm
Haematite
IS8
3 ® e
Wrought iron
__E;'I"I‘ il-_u-l"'"’.-"_";. -
4 v? r AL JnU.-'u.'\:'\.-'
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Which of the following statements are correct?

a)  All elements of group 16 form their hydrides

b)  The bond angles of H,O and H,S are 104°28"and 92°30", respectively
¢) Dry SO, isareducing agent

d)  Pyrosulphuric acidis H,S,0,

Bod DSEnoS” D BESEI?

) (b 168 Bl drover o8 RG0S Ao

b) H,0 5008w H,S 06" wodfaares Sthdm 104°28" o8 92°30°
¢) &é& S0O,e8 Foosdm srU¥Esw

d) }_‘:5‘ éw&g&g @3’133’1.«.; H:SEO8

Options :

1 o a.b.d
o W C.d

-« a.c.d

Ll

4 % b.d
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Observe the following statements
Statement (A) : XeF, readily reacts with water to form Xe(g). HF(aq) and 0,
Statement (B) : XeF has trigonal bipyramidal structure

$od JS8meds H8I00intwn
D58 (A): XeF, Sovgfomr 088 S8gTob Xe (o) HF (2o) S00cin 0,0
Dy

2580 (B): XeF, @ﬁ"‘ﬁ@ BOOWES ooy $OH Gotnod

The correct answer 1s
o LoD WI"EN
Options :
Both (A) and (B) are not correct
. (A) D0ci0 (B) w Bods 905080 59
1=
(A) 1s correct but (B) is not correct

, (A) 509080 £ (B) S0056 56

(A) 1s notf correct but (B) 1s correct

(A) S0T088 57 570 (B) S050s86

B

1

Both (A) and (B) are correct

(A) S0605w (B) © Bodo 20508
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Correct: 1 Wrong: 0

Identify the species/products formed during the reaction of KMnO, with iodide under
wealkly alkaline conditions

20S 8 cirsbed’ 20 KMNO, & «@ras $85obsddh J6im 2rdes / Golrasgos

K805

Options :



., MuO,KLHO

o
5

MnO,. MnO,. I,

L
®H

MnO,. KOH. 1,

, » MnO,. KOH. I0;
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Correct : 1 Wrong: 0

Identify the correct set for [Ni(CN),]*

[NI(C?\T}_I_-II_ & womofow

BOSRN SWED MHBoEN®
Options :

Tetrahedral. sp’. paramagnetic

ST
1 ®

Hodoo, sp . Horeos

- m;w‘"‘?zu ek

Square planar, dsp”. diamagnetic

¥ = | -
wdde Shdda, dspr. dodrecihdn.o
o o

-~
o
€5
(i

Square planar. dsp”. paramagnetic

w -~ o - 2 wdl &
DSade Sddo, dspr. Sorwchar o

Tetrahedral. sp’. diamagnetic
ﬁaﬁ:ﬂaéﬁj}oﬁu. sp?. &odTre gionm, 08

Question Number : 153 Question Id : 492863793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0

Nylom 6 1s prepared from

35 65 B2 Hod SoirHIdm
Options :



Carprolactone

. 5 (@rers o

Hexamethylene diamine and adipic acid

TEGOS BN ot JELE BB

&

Caprolactam
. @ TEorEan

Glycine and aminocaproic acid

Aos Sbchs JSTErons sdo
4 B £

Question Number : 154 Question Id : 492863794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Which of the following statements are correct about the inversion of sucrose?
a) Invertase catalyzes this reaction

b)  There is a change in sign of optical rotation

¢)  Glucose and mannose are formed in the reaction

d) Glucose and Fructose are formed in the reaction

Bod T8S HFE IS HJWSH Howohon) J8RE dTwen DY

{ T

s

e300 Dby
b) (ol ghoomd N Srddod
C) & S6g8 ApFE DHoch SrJE dGydestow
d) & SE63&° ArFE Soboln WEE JGydarow

a) & USEfD Qe Q

Options :

a.b.c

1 ®

g ac.d

i

3 o H.b,d



Question Number : 155 Question Id : 492863795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The structure of the antisepetic chloroxylenol 1s

§58)856 diroliwns do@dn
Options :
OH
HyC” i “CH,
L@ Cl
OH
H,C
CH,
oo Cl
Cl
H;C” i ~CH;
5 ® CH
Cl]@mi
HO CH;
q #

Question Number : 156 Question Id : 492863796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following statements 1s/are correct for the reaction?

(—}—2—:11-:t]1y1—1-butaunl' conc. HCVA | (+)-1—chloro—2-methyl butane

a)  Itproceeds with inversion of configuration
b) It proceeds with retention of configuration
c) Reactant and product differ with respect to rotation of plane polarized light

Bol gy O ST wo) HBGESI?

(2-2085- largs's _mdHCVA | (+)-1-86-2-2:35 2rg8S

a) & 885 T JTrgdo oo a2l

b) & $dg ohardd Dorgdo @gom adiiads

C)  (BoirasEios $300%0 eréyd)sn HS8e (WIS 508 FrlE Bonodod JBJ00
Options :

1% 4.t

[t3

Question Number : 157 Question Id : 492863797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number of resonance structures possible for anisole 1s

RO ED #dgéﬁ&cﬁ}g 0& AN Ao ETw SIGE Vs
Options :
1. % 2
=
o WD
T W 6

493



Question Number : 158 Question Id : 492863798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

In the reaction given below if B 1s 4-hydroxy-4-methyl pentan-2-one. identify the structures
ofAand C

Bod a)s 6" B edosdd 4@ sy-4-038 2obe-240, vuwd Adddin Cod

iﬁgdtﬁu&

Ba(OH)
A 2 5B A __s¢
“H,0
Options :
A C
Q M
Py N |-
cH, CH, C=CH-C-CH,
| o Me
A C
OH CH, ﬁ
e N om0
. CH, X —CH,—C — CH;
5 % H,C
A C
H 0
)\ Me,\ |
C=CH-C -CH,
H, ™ SCcH, i 3
3 -ichy
A C
0O-H H O
)\ Iﬁl{hﬁ“\“c*:ﬂ r!“ fl:l CH
g~ SCH, P | >
= Me
HO



Question Number : 159 Question Id : 492863799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The reaction of 1-methylcyclohex-1-ene with O, followed by the reaction with Zn-H,O

gives X. Compound X on warning with [Ag (NH; ), T) / OHepi'U{luces Y. Whatare X and Y?

1038 DErE-1-Sad 0,8 JUg 200 86080 Zn-H,0 & &8 2idm X 0dgob

Options
X Y
| ® OH 6)
X X
0O
O OH
CHO
5 0

X
CHO it Gl
CHO HUJ\(\A;!/
3%

O -
-
SRe
{‘”

HO OH

Question Number : 160 Question Id : 492863800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Which of the following reactants gives meta nitroderivative. on nitration with conc. HNO,
and conc. H,SO,?

Bod ESradstoes” md HNO, hecsn md H,S80,8 IBaAS addm Jaurgws’
G& S0k FEBE 6?7

Options :

Acetanilide

| & JDEITE

Phenol

o % ¥TS
Aniline
2 @ SUOD

Chlorobenzene

. A EAS
i G
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Answer

Q.No.

121
122
123
124
125
126
127
128
129
130
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102
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119
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41
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